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The illustration below shows one way cancer

can spread from one body part to another.

Which letter of the following indicates cancer cells?

Clhapedd) Loy Sl o OSar A @kl (gaa) (o olial JS
cpeaad) (B AT Y e e
ilap WS ) sad (A Laa Cia g

In the figure below, which letter of the following

indicates the cell plate?

dagiiall ) sads b Laa cisa (gl colidl Jein 3




The figure below shows the homologous Alilaiall Cilaguigag Sl 3uad Cau olial Jg&l
chromosomes that are physically bound .' J) (Sgadll gl B il dulac sl laa

together during synapsis in prophase I. - f(A) il ad) udo sd L
What does the letter (A) stand for? :

The centromere 4385 dakadll

T O O - - -

Non-sister chromatids daasll e lailag S

The nucleolus agll d




Which of the following is a characteristic of meiosis? fllaiall aludi¥) pailad 4 A Laa {éi
Synapsis of homologous chromosomes does not occur Allaiall Silaguigey S sblin Sy Y
The daughter cells are genetically identical L))y dayUaia sl gll LAY

" tocours only in reproduciive I.J..,MMUAM )
Itoccurs only in body cells Jaad daceadl LA PLRUILEN d

Based on the figure below. oLl JSaN ) Vol
- - Which letter of the following indicates an organism for which  4cgaaall a3 & ¢ > G A ada b laa s L;i
polyploidy is useful? Saada oLDIAT dua gusgag Sl
B b
C .C
DR




Use the hypothetical cell shown below to answer the question: gl e LladU slial ditiall dua)say) 4031 PREGI
What is the ratio of its surface area to its volume? flgans Al lgabiy dalus duwi L

2¢cm

The results of Mendel’s cross involving true-breeding pea plants with g.h.\sji filil) dulae il slial JS&N un

yellow seeds and green seeds are shown below Al Al oWl il G Jaia g alB A
What is the percentage of the green beans in the first filial(F,)? O sliadg plia wigaa ld

p— L U dead) A el Gigaad) A La

5 a = Q (e 29 51

Yeflow peas Green peas
(male) {femnale)

(53] i St L) lpist S

6012 yellow : 2001 green
J slpas 2001 ; +4yien)5022




Mendel took the pollen from a tall pea plant and pollinated the

flower of a short pea plant. When he did this, he removed the

male parts of the flower of the short plant.
Why was it important that he remove the male parts from the

flower of the short plant?

Because the short plant was heterozygous

dig 58) Lgw el Aligh oW3L 430 (o 1B ges Jaia 24
Ao A Bl i) slae ¥ I el dald (gal L Bpd Y3
Lalll SN
S A3 By8) (o A€ lae ¥ Juis o agall e OIS 13l

Cluadl dallase il 5y0aill

il s oY b

Because he wanted to prevent the development of seeds sl sal aia Al asy c

Because the short plant was not a true—breeding plant

& 4Dk (e (5 o Byl

05yl




Which of the following reproduces sexually only? ehadd Luda IS b Laa 45

Bacteria Lyl
Most protists Sl akhes
Most simple animals Al cllgad) Jaes

Observe the cell labeled (X) in the figure below containing (4) = (gsa3 A slial JSal o (X)5laceall aalal) Bay
chromosomes. Which of the four cells below represents lasdia Jias Ll &aﬂ! LAl e @T ilagugag < (4)

a healthy gamete that could be produced from this cell? fauall ola oo il O oS Laaka




What is the probability of a couple giving birth to three boys in a row? Sl e )9S AN Cag) lad) Jlais) La

The figure below shows some phases of meiosis, study aS Ayl cCaiall aludi¥) gkl Gaamy cuu olial &)
it and then answer the following question: : G Jgad) el

Which letter of the following indicates Anaphase II? T Al AladiV) jghall (A sl A Laa Cija L;i




The figure below shows the spindle apparatus. el Glead) cligla G colial Jga
Which letter of the following refers to spindle fibers? CUmall gt (A pada A laa i ‘53

Al (D)

The figure below shows the phases of mitosis, study it (& wal A 4wl (Goludall aluds¥) lehi Guw oUal JS&
A and answer the question: gl
Which letter of the following indicates Metaphase? T Algiad) jghall (A gada Ay Laa Cija gi

B = ~
N ,

A

Ay,

H
D : nucleus
: d Condensed Chromosomes and ply
: -
4

nucleolus 35!

(8




The figure below shows a dihybrid mating in Punnett square S il e ua Cragdll u;L.S raDei) slial JSa) Tag
that presents visually the possible combinations of the .C&,;\J\ O dalg JS8 LY bl c laa) Usas s
possible alleles from each parent. S(A) il Lgad) sady AEN dxial) SISl Ga @i
Which of the following genotypes does the letter (A) refer to?

Yr YR

o)
YYRR

)
YVRr

VYRR

)’}’!"

Based on the diagram below that indicates normal Cell AN daapdal) By gal) ) sads (3 pLial pesl (A Vi
Cycle. at which stage of the following does the combination LAY JuiSli- GalSilual) 4S5 haad s Laa dlasa L;f o

of cyclin with CDK signal the start of the cell cycle? Saalal) B)ga sau

Checkpint




In the figure below, the sexual life cycle in human involves  al gluy) ga dacdal) Blad) 5yga colial Jedl) ga
meiosis, which produces gametes. When gametes combine quﬁ'\ alad) X g cm‘ll ] 9_5331 laiall ,L..L’Y\
in fertilization, the number of chromosomes B ) clagugag SI 3ga0 clad) dlas ga
are restored. What do the letters (B), (D) refer to? (D) «(B) A A juds s .‘ﬁ,.\.a‘n

A Male(2n)  Grows into adult

i Female(2n) male or adult female
1555 ] 5o
aally ol ol L

|
(A ]
\

\

(B): Female gamete and (D): Zygote Aaaia diag 1(D) 5 sl muda 1(B)

(B): Zygote and (D): Female gamete ssil e 1(D) 5 dsaia s :(B)

(B): Meiosis and (D): Fertilization Gladyl (D) 5 caaidl sLuay) :(B)

(B): Fertilization and (D): Meiosis craial syl :(D) 5 Slasyl :(B)




In the figure below, the cell cycle involves three sdalia EDG AN By g cracali colial JSAN o
stages—interphase, mitosis, and cytokinesis. sy Dagiiall aludi¥l (Soludal) aludiVly Jul) ) ghal)
Interphase is divided into three substages. In which aasid Jala SN ) Aul) ) ghll acding

stage of the following does a cell prepare for mitosis? 9 (Goluiall aluadid Aulad) 4d aais o Laa ils e (55 2




The figure below shows the first chromosome map created aladiuly i Claguigag € dayd Jgl olial JSEN o

using fruit fly data. LAgSlall ALl cilily
Wild type - 8!

What are the genes y, w, v called? WoW oy Cliall el 1ila

yellow body color

saa ¥ pind) o) [T
white eye color

e cpeall cyal [.]

wermilion eye color

R

The independently genes (Ml 5t gl b
The dominant genes salad) cligl
.C

The recessive genes Lanigl) Slugll



The figure below showing linked genes. Akl cliall cu (3 olial J&N L) Takiad
Which of the following statement is incorrect? fdasaa s Ble L laa gl

Replicated homologous chromosomes

0 cheare pluaai
Meiosis | Meiosis Il

The linked genes usually do not segregate independently Ui (S8 sale Juaiin Y dday jall clisgll

Meiosis | and Meiosis Il meiosis occurs Sy Jf Ciate plai) ey

The linkage of genes on a chromosome result in an exception ol ajgll Ogilal el aah pgugag I o Cilindl dala) |

to Mendel’s law of independent assortment

Crossing over occurs Dzl Badas




Which of the following is not a characteristic of adult stem cells? fdalll due dal) LAY Gatlad e e U Laa Lﬁi

They are much less controversial (Aiadl LOATL a35las) Japll 55080 Jil
(compared to embryonic stem cells)
.a
Some adull stem cells mighl be able lo develop into Oa Aaliag &ljai o Jgam ol oie Bpaall Lgl lgdany
different kinds of cells L) b
Can be obtained with the consent of their donors. g Cne el dilges lple Jpanll 401K é
_______________________________________________________________________________________________________ .
It is still controversial because of ethical concerns about the Wineae slam aadal ol Joa e JpY i
L]
n— e :
source of the cells. ' =
i

In minks, brown fur color is dominant to silver-blue fur color. || Jilall a8l O glll e Bailu dda ga diall Glgas A gl ol )
If a heterozygous for the genes of brown mink is mated with 2a Al gl Ol ddal cliall Callata dlia Glga gl aic L4350 )
a silver-blue mink and (8) offspring are produced, how many Ca 2 aS (8) laaae 4yd dacil) culed (43,50 L) Jila 0g 8 O gt AT

offspring would be expected to be silver-blue? 043301 ) Sila Lucad 09 Ol O3S of aBsh Ay




